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(A) control unit (B) 'npUt/OUtpUt (C) memory (D) arithmetic logic unit
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(A) programmed I/0O (B) interrupt-driven 1/0 (C) DMA (D) isolated 1/O
(4) 7l R B
(A) register (B) cache memory (C) main memory (D) hard disk
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(A) application layer (B) transport layer (C) network layer (D) data link layer
(6) TrlfH A F &N I E H(swapping) e § A fe st RA]?

(A) partitioning (B) queuing (C) demand paging (D) demand segmentation
(7) TrlfPH 7 5 g2 @ ¥ (software lifecycle)?

(A) % % (development) (B) ¢ * (use) (C) ¢ * (use) (D) 4% & (sale)
8) T siw —“‘Ff eSO R GTE g IRENE7

(A) # % (operability) (B) % g £ (salability) (C) ¥ # # 4 (transferability) (D) + 3L+

(maintainability)
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(A) # A% (B) ¥ A% (C) 144 (D) HA
(10) “algorithm” 2 “alignment”2_ $. & + ¢ + B 7] (LCS) ehE& R 5 %~ ?
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(2) = 4F #ic(two’s complement) % 7 ;2 ¢ 711100110 #& 4 = - & > B e i

o

(3) #= A Qﬁ:(two’s complement) & 7 ;2 ¢ &1 10011001 i% ¥ ¥+ # i& & (arithmetic right shift

operatlon) R R LD 55 ' 0

(4) 4% ;ohﬁﬁ" >y 7 B (address space) = 32MB - * - i word 3 16 =~ - R|4p =+ i word i

BT EA G .
5) TCP/IP 7 B/ K ¢ » f FA=dpsigr p eheh2 F eodt & (packet) @ vfenk %
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(1) B2k CPU AUZ4rT 4 2 42 5

2 h BER (SERERLAL]) % PER (% 4))
P1 1 15
P2 3 9
P3 2 12
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(4) 3% 91— BwE 2 > 17 while loops #- stack S1 chp % # 3 stack S2 » & j# % stack S1 -
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